9)
The surfaces between a 6 kg block, the 24 kg wedge and between the 24 kg wedge and the horizontal plane are smooth (without fric-tion).
The acceleration of gravity is 9.8 m/s2 .
A block is released on the inclined plane  (top side of the wedge).
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a rapid descent down the side of the building
and met the barrel coming up. My luck finally
began to change slightly. The barrel slowed
me enough to lessen my injuries when I fell
into the pile of bricks. I am sorry to report,
however, as I lay there on the pile of bricks, in
pain, unable to move and watching the empty
barrel several stories above me, I again lost
my composure and let go of the rope. These
events account for the fractured skull, broken
collarbone, fractured ankles, broken tooth,
severe lacerations and cracked vertebra.

Sincerely, . |
Tam A. Klutz ~ What is the force F' which must be exerted

on the 24 kg block in order that the 6 kg block

‘ does not move up or down the plane?
/ S
Answer in units of N

010 (part 1 of 4) 10.0 points
Two 109 kg boxes are dragged along a fric-
tionless surface with a constant acceleration
of 1.25 m/s%, as shown in the figure.
Each rope has a mass of 1.08 kg.

‘What was the initial upward acceleration
experienced by the worker?





